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QUESTION 1

A customer is interested in IBM LinuxONE as a platform for their new cloud-based application infrastructure. A sizing
exercise has shown that one LinuxONE Emperor II machine (in LM2 configuration) is sufficient for their expected
workload, but the customer is concerned about putting all the application workload on a single frame. 

Which set of LinuxONE features can the technical specialist remind the customer about, to help to relieve their
concern? 

A. RAIM memory, Capacity on Demand, SIMD 

B. Processor sparing, I/O redundancy, RAIM memory 

C. Processor sparing, SIMD, CPACF 

D. CPACF, I/O redundancy, Capacity on Demand 

Correct Answer: D 

 

QUESTION 2

When planning a new disk unit to populate the reserved 16U space on a z14 ZR1, what could prevent installation? 

A. 8U minimum and two power cords 

B. Weight and power consumption 

C. Height and maximum capacity 

D. 6U minimum and Flash 

Correct Answer: C 

Reference: https://www-01.ibm.com/common/ssi/ShowDoc.wss?docURL=/common/ssi/rep_ca/4/877/
ENUSZG18-0024/index.htmlandlang=enandrequest_locale=en 

 

QUESTION 3

A security administrator would like to know more details about Coupling Facility Encryption. Their main concern is with
Coupling Facility CPU overhead once encryption has been implemented. 

Which ICF overhead consideration is associated with Coupling Facility Encryption? 

A. Overhead is dependent on the number and type of structures to be encrypted. 

B. Encryption is z/OS based and will not impact Coupling Facility overhead. 

C. A Pervasive Encryption assessment can determine the overhead. 

D. Once ICA links are implemented, overhead will not be impacted. 
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Correct Answer: A 

Reference: https://www.ibm.com/downloads/cas/JZB2E38Q 

 

QUESTION 4

A customer starts using z/OS Encryption Readiness Technology (zERT) to gather knowledge about the state of
encrypted network traffic in their system. They also use Sysplex Distributor, so there is TLS-encrypted traffic routed
through the distributor systems to application hosts. The distributor systems also host TLS-encrypted TN3270 services
for the network. 

They started gathering data from the Sysplex Distributor hosts, since encrypted traffic is routed through those systems.
A large number of encrypted TCP sessions seem to be missing from the customer\\'s analysis. 

What does the customer need to do to gather full analysis data? 

A. Start gathering zERT data on all z/OS systems in their environment. 

B. Configure the zERT collection correctly on the Sysplex Distributor hosts. 

C. Move the collection of data to the z/OS application data hosts. 

D. Move the collection of data to the network routers neighboring the z/OS systems. 

Correct Answer: D 

 

QUESTION 5

A client has a production data center and disaster recovery data center separated by more than 300 km. 

What level of recovery can they achieve by using GDPS/GM (Global Mirror)? 

A. RPO = 0, RTO = 0 

B. RPO = 0, RTO > 0 

C. RPO > 0, RTO = 0 

D. RPO > 0, RTO > 0 

Correct Answer: D 

Reference: https://www.ibm.com/downloads/cas/RJNOXAGZ 
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